SV/SL...30 /&Y= i a) ]

it = RC 21467/05.2010

o M
= O
5> Hk
bl | T

l
i 12 10 = 30 EHZE31.5MPa | 58 400L/min | # & RC21467/05.2006

—RIFEOE

—EBR Y7 DIN24340

— IR ERKIRBE
—REZEHHHOANRNHILH0
— REZ2EHRSENIELSR
—RAESRETEE
—OR=fHBEND

iAA

SVAISLELRIZ L OIRER BT, TUUBRET B
MAFRERE), WPRAREESEENOR, Bl
BRI RBREZHRP, WTRHLERETC,

IAPRESaREZQERE (1D, ERT (2, 7T
ST (), EEEE 4 EHEE ).

SV & (Fohdad

BADEBOBKRIYLUBEHRD. KOO ENTSE ' =
0 (3) FERT (2 #EEE (4) NARGKEDRITER
B, EXOMSBEDH, WERGTE 6) #EDG,
BRHIASED (3), AHAERD (2, F2HR%T
BYSR, mENER, ATRIERIEHIEE (6) 80
SRR, F2—ENREEHIED.

|
SV-+PA (SR

SL & (Fthdmo)

HRE L, RS sV BIBHEENINEE, RaEht
FIBNS RO Y, ZMILULEHEE (6) BMIE
READRE. ADXIBENDRIEREZHEE (6
HNEIR A4 £, MITBERFHELL R4 FRIREUEHIE D,

SL---PB BRI(REHLESIR)

WS

A1
(cm?)

A2
(cm?)

A3
(cm?)

(cm?)

SV/SL10

1.13

0.28

3.16

0.50

SV/8L20

3.14

0.78

9.62

1.13

SV/SL30

5.30

1.33

15.9

1.54

[ 16—




[2] & 7R 151

i
| !
@ X
F F Q}
X
SV AURBVZER SL AUiRBYZE
SRR, X R,
AOHEE J EE@EESRIEN A DNE
AL S5t
I I
S _| 30 B /l %
a0 =V HEAHEYFHE
im0 =L
THS= TRBES
Vo= ARSI
o = o TEBREE R
ERDT G P 6 P WRKRIVRERA
ITRRS
30= 30 A3
HE 10 =10 | =10 =10 | =10
(30 2 39 AVZRREBRTARE)
R 15 =15 | - =15 | -
20 =20 | =2 =20 | =20 _
] 1=0.15Mpa FEED
S 25 =25 | - =25 | - 2=0.3Mpa MR AEB
18 30 =30 | =30 | =30 |=3 3=0.6Mpa
[EIRZ% =P A= BEER
BEER =0 B= ENiEpin= 15
KARSH
R, SV10 SL10 SV15, 20 SL15, 20 SV25, 30 SL25, 30
X DEFIER (cm) 2.2 8.7 17.5
Y DEHIBER (cm?) - 1.9 - 7.7 - 15.8
BREE AZBEHRE, BE «— ABHRBGESEHN
T/EED (MPa) B31.5
ZHIEN (MPa) 0.6~31.5
R IRRESS HERIEREH
BECE (c) —30~+80
HERH (mm?/s) 2.8~500
= (ke) SV10 SL10 SV15, 20 SL15, 20 SV25, 30 SL25, 30
2.5 4.0 4.5 8.0

—-17—




- ———— H{——
T1 15— |
-l . [ j ] j . J
1 | l | [ | ] | [ IT
T T I -] I | T
| @23 |
: | - I S S
‘ \ | A
o) g S A N
=Rl | O a O ™~
a w
- A / H <t / - —1__1
] | -
* I ™ '
~—
o | Ld T |
‘ | B 1] \ | |
Y ay i N | N
T | i T = B —
| |
\ [ 1
L ‘ 1 1 I I
T I I o T
L‘,EL_L_Q_J ) L_JEJ N
- Bl -
— Be -—
RELS B B2 B3 ® D1 D2 1. BMOARB
10 66.5 85 40 34 G1/2" g M22X1.5. 2. O X, G1/4"gM14X1.5
16 79.5 100 55 4 G3/4" i M27X2 3. FhAE
sV | 20 79.5 100 55 47 61" 8 M33X2 4. RBMTEEEIL® 10.5
25 97 120 70 56 G11/4" g Ma2x2 6. BOY, G1/4" T M14X1.5
30 97 120 70 61 G11/2" 8 M48X2 *» RY L7 A8ATFAREN1 2
10 66.5 85 40 3 G1/2" g, M22X1.5 » RY LS AERFHARE 3
15 79.5 100 55 1 G3/4" G M27X2
SL 20 79.5 100 55 47 61" 8 M33X2
25 97 120 70 56 G11/4" G MA2X2
30 97 120 70 61 G11/2" B M48X?
BRI H1 L1 L? L3 L4 L5 L6 L7 L8 L9 T
10 42 27.5 18.5 10.5 33.5 49 80 116 116 - 14
15 57 36.5 17.5 13 50.5 67.5 95 135 146 - 16
v | 2 67 36.5 17.5 13 50.5 67.5 95 136 146 - 18
25 75 54.5 16.5 20.5 73.5 89.5 115 169 179 - 20
30 75 54.5 16.5 20.5 73.5 89.5 115 169 179 - 22
10 42 22.5 18.5 10.5 33.5 49 80 116 116 51.5 14
15 57 30.5 17.5 13 50.5 72.5 100 140 151 72.5 16
SL 20 Y 30.5 17.5 13 50.5 72.5 100 140 151 72.5 18
26 75 51 16.5 20 8 99.5 126 179 189 99.5 20
30 75 51 16.5 20 8 99.5 126 179 189 99.5 22

—18—




B4 —~ B5
|
! !
. i
| |
@+\‘ e
= ) f ¥ ) 1 -
s 2D AT L
= N N 39
| j.___.ﬁ el Y.{? ©
A e 470NN
v A G s
e ~TF oo
5/ ;
M | !
Il ! ™
EEEEEE i
— : L
B3
B2
Bl
BEREBRER
GILELSISEE
1 BOATB 10.0%8 i oy
2. 80X A0 ARB //////////////////////
3.5 0@ 15 x 3 (& 10) S A

4. AT SV/SL10, SV/SL20 B4 NEERL
5. BEUT, SV/SL30 )6 MEEIL
680 ¥ BT sL &R

(£ SV BRPIBILLO)
7. ="M
8. FBESDA “17, 27 Bl (RYLY
90.FBESDA 37 B (RYLS)

OF@ 24 x 3 (3% 20)
OF@ 34 x 3 (& 30)

O XY
OB 10 x 2.5
(348 10,20,30)

RS | W8 L1 L2 L3 | L4 L5 L6 L7 L8 L9 L10
10 98 18 18 | 80 18 43 | 185 | 7.2 | 35.8 -
SV 20 116 20 31 95 20 60.5 17.3 111 49.2 -
30 144 29 35 116 29 84 15.5 16.5 67.5 -
10 98 18 18 80 18 43 18.5 7.2 35.8 21.5
SL 20 15 | 20 31 | 100 20 | 60.5 | 17.3 | 1.1 | 482 | 39.7
30 144 29 3% | 125 29 8 | 15.5 | 16.5 | 67.5 | 59.5
RS g LM L12 L13 B1 B2 B3 B4 Bb H1 He
10 21.5 - 32 733 85 66.5 40 58.5 - 42 21
SV 20 20.6 - |45 | 100 | 795 | 85 73 - 5 | 8.5
30 ws | 42 e | 10| 9 70 92.8 - 7 | 375
10 21.5 ~ | 52, 85 | ee5 | 40 88.5 | 7.9 | 42 21
SL 20 20.6 - 44.57(?7 100 79.5 55 73 6.4 57 28.5
30 24.5 42 63 733 120 97 70 92.8 3.8 75 37.5

RBEE] (ESEHRED)
Mg 10

4 M10 x 50-10.9 (G B /T70.1-2000)

1PIZIRRE Ma=75Nm

Mg 20

4 M10 x 70-10.9 (G B /T70.1-2000)

TR Ma=76Nm

& 30

67 M10 x 85-10.9 (G B /T70.1-2000)

1A% Ma=75Nm

JER:

S 10 G460/01(G3/8" ),
G461/01(G1/2" ),

& 20 G412/01(G3/4" ),
G413/01(G1" ),

(G460/02(M18 x 1.5)
G461/02(M22 x 2)
G412/02(M27 x 2)
G413/02(M33 x 2)

U8 30 Ga14/01(G11/4” ), G414/02(MA2 x 2)
G415/01(G11/2" ), G415/02(M48 x 2)

MERTER




